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_init_(self, size):

self.memory size = size

self.memory = reshape([0]*sizexx2, (size, size))
print (self.memory)

h = hebb(3)
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learn(self, neural _activity): o
self.memory size !'= len(neural activity):

y range(self.memory size):
X range (self .memory _size):
X == y:
self.memory [x,v] = 0

neural _activity[x] == neural _activity[y] ==
self.memory [x,y] += 1

neural _activity[x] == -1 neural activity[y] == -1:

éelf.memnry[x,y] -= 1
print (self.memory)
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learn(self, neural _activity):
* self.memory_size != len(neural_activity):

ry in range(self.memory size):
f X rangeiself.memory size):

¥ ST oy __@
self.memory[x,v] = 0

" neural _activity[x] == 1 and neural_activity[y] == 1: .
self.memory[x,v] += 1

" neural _activity[x] == -1 and neural _activity[y] == -1: _ 3

self.memory[x,v] -= 1 'CD

print (self.memory)




rememberBE#8(hebbZ 5 A RA)

O TH~f-iEZEE(Z BLWVHLZI1TI,
®neural_activityD TEZEDEDreshapelFITH D EMTEZE 1T
%T:&)l:ﬁ—‘)o (FHIEDZDIHEE . 1 X31THE3 X 117529
o)
151 .

(1,1,-1) =>(_11)

remember (self, mgural_activit:r)i o
self.memory size '= leni(neural activity):

neural _activity = reshape(neural_activity, (self.memory_size, 1))
mind = dotiselrt.memory .,neural_activity)
reshape(mind / abs(mind), (1, self.memory_size))[0]
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neural_activity

remember (self, ngural_activityli o
self.memory size != leni(neural activity):

neural activity = reshape(neural activity, (self.memory size, 1))

| mind = dot (self.memory ,neural _activity)

reshapetmind 7 absimindJ), (I, Self.memory size)J 0]
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lef remember (self, neural_activity):

f self.memory size '= len(neural activity):

neural _activity = reshape(neural _activity, (self.memory _size, 1))
mind = dot (self.memory ,neural activity)

" reshape(nind /7 abs(mind), (T, self.memory_size))[0] |
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remember (self, ngural_a::tivitﬂl o
f self.memory size 'z lent(neural activity):

neural _activity = reshape(neural _activity, (self.memory _size, 1))
mind = dot(self.memory ,neural activity)

reshape (mind /7 abs(mind), (T, self.memory_size))[0] |
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learnina) :
h.learn(na): o )
print (strina)+ " #EzFL 7. ")

érint (strina)+"|l3FZoNETEFA. )

learn([1,1,-1])
learn([1,1,-1])
learn([1,1,-1])
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remember (quest ion) :
answer = h.remember (question)
any (answer) :
print ("Ssins. ¥sFBvELFL- LT ¥ (question, answer))

r;r int (striquestion)+" #B I L=+ A. ")

remember ([1,1,-1
remember([1,1,0]

1)
)




D #HBEOEEFIEPLTHS,
@ FIFAZIEEASE-E.BEARIEAIEREBNEFILT
A HROMEFESLDD. MO LEILEZARNS,




DDEU S E

O UTLTIEHEDHEREEL TV H D,

O3S TOBISHIBL T B INEORTLEIT 5
— ~/d~ o

h = hebb(3)
learn([1,1,-1])
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(1, 1, -1]=RZ3FLLC,
(1, 1, -1]=RXFLE,
(1, 1, -1]=RXFLE,
(1, 1, -11pa [ 1 1 -1]12B0haL&ELE !
(1, 1, O] [ 1 1 -11=BhalLaFELE |
(1, -1, 1]=RZFLE,
(1, -1, 1]=RZFLEL,
(1, 1, -11pa [ 1 1 -11&B0haLaELE !
(1, -1, 11pa [-1 -1 1]1&EBLhaLaELE !
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(1, -1, 11=8xzFLE,

[1, -1, 11&E8EzFLE,

[1, -1, 11&E8EzFLE,

C:\Usersh\admin\workspace\pliplihebb.py:37: RuntimeWarning: divide by zero encountered in divide
return reshape (mind / abs(mind), (1, self.memory size)) [0]

(1, 1, -11pa [ 0 1 -1]&BhaBLaELE!

(1, -1, 11pa [ 0 -1 1]&BLhBLELE!
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def remember (self, neural activity):

if self.memory size != len(neural activity):
return False

neural activity = reshape (neural activity, (self.memory size, 1))
mind = dot(self.memory ,neural activity)

return reshape (mind / abs(mind), (1, self.memory size)) [0]
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(1, 1, -11p» [ 0 1 -11&5BndELELE !
(1, -1, 11 [ 0 -1 11&EBndELELE !
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